MATH 112, Exam I
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There are 7 problems. On all problems, show all work (justifying your answers is part of the
exam) and follow instructions carefully. A list of potentially useful formulas can be found on the
last page. If anything is unclear, please ask!

September 28, 2006
Instructor: John Ramsay

1. In each of the following, find %:
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2. Compute the following limits (Justify your answers.):
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3. (12 pts)

a) Define the constant e as it was defined in class and in the lab. N
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b) Prove either that fx—[a"] = a'Ina or that %[tan‘l(x)] =
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4. Prove both of the following:
(12 pts)
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5. Evaluate the following integrals. You must show the steps of your work.

(7 pts each)
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6. Consider the function f(x) (tan x){** Tt C/OSY )
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7. (5 pts + 3 bonus pts)

a. Which century is known as the “heroic” century because of the incredible advancement
of science during that time?
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b. Name three important mathematicians of this century and briefly identify their
contribution to the calculus.
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